Examples for block Redaction: 

[image: image1.emf]
[image: image2.emf]
[image: image3.emf]
[image: image4.png]‘The same result can also be obtained by proceeding as follows: Since signal X(s) is the sum
of two signals GiR(s) and R(s). we have

X6) = GiRG) + RE)
The output signal C(s) i the sum of G:X(s) and R(s). Henee
Cs) = GX() + RG) = Gi{GR(s) + R®)) + RE)

And so we have the same result s before:
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Figure 3-29
Block diagram of a
system.
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Reduction of the
block diagram shown
in Figure 3-29.
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Sol.
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Sol.
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[image: image19.png]3-4. Reduce the block diagram shown in Fig. 3P4 o unity feedback form and find the Y/X.
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Figure 3P-4
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